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Each of the 30 boxes in a certain shipment with either 10 pounds or 20 pounds, and the average (arithmetic mean) weight of the boxes in the shipment is 18 pounds. If the
average weight of the boxes in the shipment is to be reduced to 14 pounds by removing some of the 20-pound boxes, how many 20-pound boxes must be removed?

A 4
B 6
c 10
D 20
E 24




image7.png
1f 10°%° — 74 is written as an integer in base 10 notation, what is the sum of the digits in that integer?
A

B 433
C 440
D 449

E 467
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1Ux<1x3? (1)x>0 (2)x<1

Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.
Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

BOTH statement TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

o 0o w P

EACH statement ALONE is sufficient.

m

Statements (1) and (2) TOGETHER are NOT sufficient.
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Each person at a party shook hands exactly once with each of the other people at the party. There was a total of 21 handshakes exchanged at the party. What is the number
of people at the party?

5

o 0o w P
o

m
©
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A child had 5 friends at her birthday party. The children opened a box containing 21 pieces of candy. Each piece of candy was received by a child. There were no other
pieces of candy received by the children at the party. Did each child at the party receive at least 1 piece of candy from the box?

1. Each child received a different number of candies.

2. The birthday girl received 6 pieces of candy, which was more than any other child.

A Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.
D EACH statement ALONE is sufficient.

E Statements (1) and (2) TOGETHER are NOT sufficient.
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Joanna bought only $0.15 stamps and $0.29 stamps. How many $0.15 stamps did she buy?

(1)She bought $4.40 worth of stamps.

(2)She bought an equal number of $0.15 stamps and $0.29 stamps.
Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.
Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

BOTH statement TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

o 0o w P

EACH statement ALONE is sufficient.

m

Statements (1) and (2) TOGETHER are NOT sufficient.
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In a certain animal population, for each of the first 3 months of life, the probability that an animal will die during that month is %. For a group of 200 newborn members of the
population, approximately how many would b expected to survive the first 3 month of life?

A 140
B 146
c 152
D 162

E 170
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Yesterday each of the 35 members of a certain task force spent some time working on project P. The graph shows the number of hours and the number of members who
spent that number of hours working on project P yesterday. What was the median number of hours that the members of the task force spent working on project P yesterday?

A 2

o

B 3
c 4
D
E
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For all integers x and y, the operation A is defined by zAy = (z + 2)2 + @+ 3)2. What is the value of integer t?
()tA2 = 74
(2)2A¢ — 80

Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.
Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

BOTH statement TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

o 0o w P

EACH statement ALONE is sufficient.

m

Statements (1) and (2) TOGETHER are NOT sufficient.
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Is [x|+|x-1] =172
(1)x20
(@)xs1

Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.
Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

BOTH statement TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

o 0o w P

EACH statement ALONE is sufficient.

m

Statements (1) and (2) TOGETHER are NOT sufficient.
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A (1 - =) (1 + X))
B (1 - g0 ) (1 - =)
c (1 - 1) (1 + &)
b (1 + L)(1 - &)
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If n is positive, which of the following is equal to W=

A1

v 2 an -1
D + n + 1 — v n
E + n + 1 + v n
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If the sequence x1, T2, &3, ..., Tp, ... is such that z1 = 3 and Zp41 = 2z, — 1 forn > 1, then zo — z19 =

A 2 19
B 2 3o
[o3 2 21
D 2 20 -1
E 2 21 -1
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What is the remainder when the positive integer x is divided by 8?
(1) When x is divided by 12, the remainder is 5.
(2) When x is divided by 18, the remainder is 11.

Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.
Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

BOTH statement TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

o 0o w P

EACH statement ALONE is sufficient.

m

Statements (1) and (2) TOGETHER are NOT sufficient.
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If x and y are positive integers and x is a multiple of y, is y=2?
MY #1
(2) x+2 is a multiple of y.

Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.
Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

BOTH statement TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

o 0o w P

EACH statement ALONE is sufficient.

m

Statements (1) and (2) TOGETHER are NOT sufficient.




